ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

, Adeline Sandridge	, hereby request station time a	s follows: See Order for proposed
schedule and charges. See Ir	voice for actual schedule and charg	ges.
Check one:		
(1) a legally qualified candid issue of public importance (subject of controversy or d Ad does NOT communicat	age relating to any political matter of national date for federal office; (2) an election to fere.g., health care legislation, IRS tax code, etcosusion at the national level.	deral office; (3) a national legislative c.); or (4) a political issue that is the
only to a state or local issue	9).	
ALL Q	UESTIONS/BLOCKS MUST BE C	OMPLETED
Station time requested by: Adeline S	Sandridge	
Agency name: Office of Congresswom		and the second s
Address: 2421 Rayburn House Office E	и при при в при	en e
Contact: Adeline Sandridge	Phone number: (202) 763-3407	Email: adeline.sandridge@mail.house.gov
	ity's full legal name as disclosed to the F e must match the sponsorship ID in ad):	Federal Election Commission [for federal
Name: Adeline Sandridge	etti viinteellä 1995-1995 vaitainin kuutuun muutaan kuutaa kuli 1995-1995 vaitaa kuutaa kuli 1995-1995 vaitaa	
Address: 2421 Rayburn House Office E	building, Washington, D.C. 20515	
Contact: Adeline Sandridge	Phone number: (202) 763-3407	Email: adeline.sandridge@mail.house.gov
Station is authorized to announce the	ne time as paid for by such person or en	rtity.
group(s) of the advertiser/sponsor (Jse separate page if necessary.): represents that those listed above are the	tee or board of directors or other governing only executive officers, members of the
If ad refers to a federal candidate(s)	or federal election, list ALL of the follow	wing: V/A
Name(s) of every candidate referred	d to:	
Office(s) sought by such candidate(s) (no acronyms or abbreviations):	
Date of election:	the contractions are an administration of the contraction of the contr	умурована навеоперация, апринентоваря (1919—1914—1914—1914).
Clearly identify EVERY political mat ad (no acronyms); use separate pag	ter of national importance referred to ine if necessary:	n the N/A

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING. The advertiser/sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, which may arise from the broadcast of the above-requested advertisement(s). For the above-requested ad(s), the advertiser/sponsor also agrees to prepare a script, transcript or tape, which will be delivered to the station by the log deadlines outlined in the station's disclosure statement. Station Representative Advertiser/Sponsor Signature: Signature: Name: Adeline Sandridge Name: Date of Station Agreement to Sell Time: 3-9-23 Date of Request to Purchase Ad Time: March 9, 2023 TO BE COMPLETED BY STATION ONLY Date ad received: 3-9-33 No Ad submitted to station? Note: Must have separate PB-19 forms for each version of the ad (i.e., for every ad with differing copy). If only one officer, executive committee member or director is listed above, station should ask the advertiser/sponsor in writing if there are any other officers, executive committee members or directors, maintain records of inquiry and update this form if additional officers, members or directors are provided. Disposition: Accepted March: April 2023 Veterans Accepted IN PART (e.g., ad not received to determine content)* Rejected - provide reason: *Upload partially accepted form, then promptly upload updated final form when complete. Date and nature of follow-ups, if any: Date Received/Requested: Station Call Letters: Contract #: Station Location: Run Start and End Dates: Est. #: 3-9-07 - 3-31-29 For national issue ads only (not required for state/local issue ads): Upload order, this disclosure form and invoice (or traffic system print-out) or other material reflecting this transaction to the OPIF or use this space to document schedule of time purchased, when spots actually aired, the rates charged and the classes of time purchased (including date, time, class of time and reasons for any make-goods or rebates) or attach separately. If station will not upload the actual times spots aired until an invoice is generated, the name of a contact person who can provide that information immediately should be placed in the "Terms and Disclosures" folder in the OPIF.





SAMPLE THREE-WEEK MARCH SCHEDULE

STATION	CALL LETTERS	DAYPART	FREQUENCY	RATE	COST PER STATION
Magic 101.3	WTMG (Hip Hop/Hits)	6am-7pm Monday-Friday 10x/week for 3 Weeks \$25	10x/week for 3 Weeks	\$25	\$750
100.5 The Buzz	WHHZ (Rock)	6am-7pm Monday-Friday 10x/week for 3 Weeks \$18	10x/week for 3 Weeks	\$18	\$540
106.9 I Am Country	WPLL	6am-7pm Monday-Friday 10x/week for 3 Weeks \$15	10x/week for 3 Weeks	\$15	\$450
Classic Hits 100.9	WXJZ	6am-7pm Monday-Friday 10x/week for 3 Weeks \$11	10x/week for 3 Weeks	\$11	\$330
R&B 94.1	WDVH	6am-7pm Monday-Friday 10x/week for 3 Weeks \$11	10x/week for 3 Weeks	\$11	\$330
The Shepherd	WTMN/WRZN	6am-7pm Monday-Friday 10x/week for 3 Weeks \$5	10x/week for 3 Weeks	\$5	\$150

180 Ads Total

Investment: \$2,550

Date: 3/09/23

Sales Order

Stations: WTMG-FM, WHHZ-FM, WPLL-FM,

Buyer:

WXJZ-FM, WDVH-AM, WTMN-AM, WRZN-AM

Tax Schedule: (None)

Contract Name: March 2023 Outreach-01

Agency Commission %: 0

Contract#:

14239656 Billing Cycle: Calendar

Start Date:

3/09/23

End Date: 3/31/23

Salesperson: 501433tpric

Comm %:

Revenue Type: LOCAL DIRECT

Type: Cash Makegood Policy: Within Contract Dates

Advertiser: OFC CONGRESSWOMAN KAT CAMMACK

Address:

2421 RAYBURN HOUSE OFC BLDG

City:

WASHINGTON State: DCZip: 20515

Phone:

(202) 225-5744

Product Name:

Competitive Code: PSA

WTMG-FM

	DAT	TES	Alt	TIM	MES					DI	STR	BUT	ON			DATE	TO	TALS	PTY
10	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	SS	Fil
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30				2	1			3	D	25.00	3	75.00	4
2	3/13/23	3/31/23		6:00 AM	7:00 PM	30	2	2	2	1	2			9	D	25.00	27	675.00	4

TOTAL GROSS \$750.00, NET \$750.00

WHHZ-FM

	DAT	TES	Alt	TIM	MES					DI	STR	BUTI	ON		2	RATE	TC	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	DW	KAIL	SPOTS	\$\$	
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30				2	1			3	D	18.00	3	54.00	4
2	3/13/23	3/31/23		6:00 AM	7:00 PM	30	2	2	1	2	2			9	D	18.00	27	486.00	4

TOTAL GROSS \$540.00, NET \$540.00

WPLL-FM

	DAT	TES	Alt	TIM	MES					DI	STR	IBUT	ON	12.17.30.14.15		DATE	тс	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	w	T	F	SA	SU	Per Wk	D/W	RATE	SPOTS	SS	EU
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30			1	3	3			6	D	15.00	6	90.00	4
2	3/13/23	3/31/23	1	6:00 AM	7:00 PM	30	2	1	2	1	2			8	D	15.00	24	360.00	4

TOTAL GROSS \$450.00, NET \$450.00

WXJZ-FM

	DA	TES	Alt	TIN	MES					DI	STR	BUT	ON			RATE	TO	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$S	
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30				2	2			4	D	11.00	4	44.00	4
2	3/13/23	3/24/23		6:00 AM	7:00 PM	30	1	2	2	1	2			8	D	11.00	16	176.00	4
3	3/27/23	3/31/23		6:00 AM	7:00 PM	30	2	2	2	2	2	-		10	D	11.00	10	110.00	4

Date: 3/09/23

TOTAL GROSS \$330.00, NET \$330.00

WDVH-AM

	DA	TES	Alt	TIN	MES	LEN		5743EC		DI	STR	BUT	ON			RATE	TO	TALS	PTY
No	START	END	wks	START	END	LEIN	М	T	W	T	F	SA	SU	Per Wk	D/W	INTE	SPOTS	\$\$	FIL
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30				2	2			4	D	11.00	4	44.00	4
2	3/13/23	3/17/23		6:00 AM	7:00 PM	30	2	2	2	2	2	1		10	D	11.00	10	110.00	4
3	3/20/23	3/31/23		6:00 AM	7:00 PM	30	2	1	1	2	2	1		8	D	11.00	16	176.00	4

TOTAL GROSS \$330.00, NET \$330.00

WTMN-AM

	DAT	res	Alt	TIM	MES	LEN				DI	STR	BUT	ION			RATE	то	TALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	SS	PIT
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30				2	1			3	D	5.00	3	15.00	4
2	3/13/23	3/31/23		6:00 AM	7:00 PM	30	2	2	1	2	2			9	D	5.00	27	135.00	4

TOTAL GROSS \$150.00, NET \$150.00

WRZN-AM

	DA	TES	Alt	TIN	MES					DI	STR	BUT	ON			RATE	TC	TALS	PTY
Vo	START	END	wks	START	END	LEN	М	T	W	Т	F	SA	SU	Per Wk	D/W	KAIL	SPOTS	\$\$	PIT
1	3/09/23	3/10/23		6:00 AM	7:00 PM	30				2	1			3	D	0.00	3	0.00	8
2	3/13/23	3/31/23		6:00 AM	7:00 PM	30	2	2	1	2	2			9	D	0.00	27	0.00	8

Billing Projections: By Month

TOTAL GROSS \$0.00, NET \$0.00

		Mar 23	Apr 23					
	CA	2,550.00	0.00					
	ST	1,800.00	750.00					
O Print	Spot Price	es			TOTAL	SPOTS		210
Notes to	Traffic: Add	ding schedul	e on WRZN to m	irror	GROSS	TOTAL \$		2,550.00
schedul	e on WTN	MN 3/8/23 TF	o		ADJUS"	TED SPOTS	**********	210
3/8 PP i	nvoice \$2	,550 sent.ss			ADJUS ⁻	TED TOTAL	\$	2,550.00
					APPRO	VE DECLII	NE	
					\bigcirc	\circ	General Manager	
					\bigcirc	\bigcirc	Sales Manager	
						\bigcirc	WRZN Sales Manager	
					$\langle \nabla \rangle$	\circ	1407ssex, 03/08/23 @3	:02PM